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Example of a 3-reservoir problem

Given: Pipe Diameter, ft Length, ft f
1 800 0.03
1.25 700 0.03
1.5 600 0.03
Find: Q through each pipe
Solution: Step1: ~  Assume an elevation of the HGL at the junction.
This will set the flow direction in each pipe
Step 2. Set up equations for velocity and discharge in each pipe
Step 3. Solve for Q at the junction and either do another trial or
use
. For this problem, the equations for Step 2 come from your handout.
Pipe 1 Pipe 2 Pipe 3
Trial HGLj, ft V, ft/s Q, ft"3ls  V,ftls Q,ft"3/s V,fts Q, ft"3/s  QatJ
1 836 227 1.78 7.12 8.73 13.47 23.79 -13.28

To find solution, replace your initial guess of HGL| with a different mjmber, or use Goal Seek



